If w is a complex cube root of unity, then cos‘ : (1-0)(1-0" )+ ———+(10-0)(10 -’ ]} %} is equal to

afe Ay 3BT BT T |, T4 COS{{{1—(§](1—0)2)+———+(1O—m)[10—m2 |}%] & FHH &
(A)-1 (B8)0 (€)1 (d) V372

One side of an equilateral triangle is 24 cm. The mid points of its sides are joined to form another triangle
whose mid points are in turn joined to form still another triangle. This process continues infinitely. The sum
of the perimeters of all the triangles is
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(A) 144 cm (B) 169 cm (C) 400 cm (D) 625 cm

The number of different ways the letters of the word VECTOR can be placed in the 8 boxes of the given
below such that no row empty is equal to

3eg VECTOR & 3eT™ & faf= odiet &7 =1 fov v 8 999l # {569 UoR ¥ @1 971 96l &
fr =9 o1 ufeq Qe 7 81 —
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(A) 26 (B) 26 x @l (C) 6! (D) 2! x 6!

Matrix A such that A> = 2A -/, where | is the identity matrix. Then for n = 2, A" is equal to
AMYE AVHT B fF A2=2A-) , FEf | TS MGE & | G n=2D forld, AAHHAH & —

(A)nA—(n—1)I (B) nA—I (C) 21A-(n-1)I (D) 2~1A — |

The solution of the inequality (cot™ x)2 —5cot' x+6>0 is
ST (cot™ x) ~5cot " x+6 >0 FHT BA &

(A) (cot3,cot2) (B) (oo, cot3)U(cot2,m)
(C) (cot2,x) (D) none of these



If D is the mid point of the side BC of AABC and AD is perpendicular to AC, then

I D, AABC &1 YT BC &I Heg fdg & 3R AD, AC & oigad &l dd —
(A) 3a* = b* - 3¢? (B) 3b% =a* —c? (C) b* =a* -c? (D) &% + b* =5¢?

Consider a tetrahedral with faces F1, F2, F3, Fa. Let V,, V,, V,, V, be the vectors whose magnitude are
respectively equal to areas of F1, Fz, F3, F4 and whose directions are perpendicular to their faces in outward

direction. Then ”'.71 +V,+V, +174| equal to

THAqIHAD B BAD Fa, Fo, Fa, Fa. Let V. V,. V,, V, QS B T URATT SHI: Fi, Fa, Fs, Fz 813
® WA B 3R fore faemd, aed feun § Beih & ofdad w1 | q9 |V, 4V, +V, V| WHE ®

(A) 1 (B) 4 (C)0 (D) none

Xy sl Zz-3

The distance of the point (2, 1, -2) from the line measured parallel to the plane x + 2y +

1 -3
z=4is
S ";=y1”=z_‘33 g (2,1, -2) 1 U AFM & GHAR x+2y+2=48
(A) V10 (B) V20 (C) B (D) +/30

For the parabola x* + y* + 2xy -6x -2y +3 =0, the focus is

WRATT X2 +y2 +2xy —-6x -2y +3=0 P foIq , 910 & —
(A)(1,-1) B)(-1.1) €)@3E 1) (D) none

A man running round a race course notes that the sum of the distances of two flag points is from him is
always 10 m and the distance between the flag points is 8 m. The area of the path he encloses in square
meter is

T B B IR AR AT AT A I8 Al Rl & &b 37 eaof 453l @1 g0 &1 I &aem

10 #Iex BIAT & 3R q1 &aof fIg 1 g9 8 AIex Bl § | K BT &A% I Al ' |
(A) 151 (B) 12 (C) 18 (D) 8




The negotient of [l sv (L r A s) is equivalent to

Csv(Lras)®l FRlEE & 99 & —

(A) sallr (B) sa(ralls) (C) sv(rvl s) (D) sar

If the angles of elevation of the top of a tower from three collinear points A, B and C on a line leading to the
fort of the tower are 30°, 45° and 60° respectively, then the ratio AB : BC is

e Te e AR & el 3T IR T aTell X@T W OF AT figd A B3R ¢ Uh HER
@ ST I=TI9 BIVT HAY: 30°, 459 and 60° E , TF SWH! UT AB:BCE |

(A) V3 :1 (B) V3 :42 (C)1:43 (D)2:3

The median of 100 observations grouped in classes of equal width is 25. If the median class interval is 20-
30 and the number of observations less than 20 is 45, then the frequency of median class is

PET F 100 STAAIDT FHE BT AIMCIDT 25 B IxIaR & | A AMCIHT a3 BT fRTeT 20—30 & I
AT DT FT 20 W T, 45 & , T ATRADBT I B IRARAT &

(A) 20 (B)12 (C)10 (D) 15

The mean of the 100 observations is 50 and their standard deviation is 5. The sum of the squares of all
observations is

100 ATET BT TR 50 B AN IADT A4S Age= 5 & | T il & a1 &I INT & —

(A) 50000 (B) 250000 (C) 252500 (D) 255000

Let f:R— [Og} be a function defined by f(x)=tan™(x* + x +a). If fis into, then a equals

AT f:R—»[O,—ﬂWWﬂTﬁQG{ﬁ f(x)=tan'(x*+x+a) ERT IRMR@ & | X f H &, a1
gE U 99 &

(A)O (B)1 (C)1/2 (D) 1/4



(A) O (B) tan' 1 (C)tan' 2 (D) none

The function f(x)= |x2 —3x +2| +cos|x| is not differentiable at x is equal to

BT f(x)=|x> ~3x+2|+cos|x| FABANT &l & el x & FAM & —

(A)—1 (B)O (C)1 (D) 2

The point of intersection of the tangents drawn to the curve x’y =1-y at the points where it is meet by the
curve xy =1 -y, is given by

TH W G TS WIRERl & gfawed fig xy -1-y fie W™ =91 & 98 98 9@ xy=1-y, 9
fierar & < fazr T &

(A) (O, -1) (B)(1,1) (C) (0, 1) (D) none
| . 10 [xﬂdx
If [.] stands for the greatest integer function, then the value of = is
s [x —28x+196]+[x2]
10 [XQ]dx
Ife [ 7ETH QU B & fog & 99 | &1 |19 BT ?

1| X* —28x+196 |+| x*
[ J+[¥]

(A) 0 (B) 1 (C) 3 (D) none

Solution of the differential equation sin y‘% =cosy(1-x.cosy)is

adel AR siny.j—i:cosy(‘l—x.cosy] P EA B

(A) secy =x-1-ce’ (B) secy =x+1+ce* (C) secy =x+e*+c (D) none of these
(Where c is arbitrary constant)



3 2
If a®> —4a+1=4, then the value of < 6‘2 +1a 1(32 = 1) isequalto.........
a2 _ ;

3 _ 52 ¥ 3
qE a?-da+1=4, 99 Z 22 N2 )BT AF, SRR E oo

a® -1

Numbers from 1 to 1000 are divisible by 60 but not by 24 is ...............
1 3 1000 T DI FEIU 60 W [T & U 24 F BN coovvooceeceeeeeen

(A) 2 (B) 8 (C)1 (D)3

Evaluate
N \-
ATHT PR

8 X2 x2 2 21
lim 5 1-coOSs——-Cc0S— +COS—.COS— }
x=0 x 2 4 2 4

(A) 00000.01 (B) 00000.04 (C) 00000.02 (D) 00000.03

Let f(x) be a continuous function given by )
AM o & f(x) gRT foun T Fefia o §
2 <1
f(x)=1., % \Xl = . Find the area of the region in the third quadrant bounded by the curves x = -
x*+ax+b, |x|>1
2y2 and y =f(x) lying on the left of the line 8x + 1 =10

gpi 9 fo faay adaier # &3 &7 &%l Sd BN OTTH x = -2y2 3Ry =f(x) Y& 8x+1=0 B
g R Reorg &

(A) 00001.34 (B) 00001.32 (C) 00001.27 (D) 00001.20

If the angles of a triangle are 30° and 45° and the included side is(ﬁ - 1)cm . Then area of the triangle is

afe Brgs & BIv7 30° 3R 4598 3R 394 S HST (V3 +1)om & AT F3rSt &1 &=het & 7

(A) 00001.37 (B) 00001.39 (C)00001.32 (D) 00001.30



